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CLASS - I

SUBJECT - COMPUTER

. Which one of the following parts of the computer looks like a television screen?

CPU

Monitor
Keyboard
Mouse

None of these

. Which one of the following features of a computer is useful for playing videos after

saving the video files in the computer?
It can think

It can work without electricity

It can store information

It can make its own decisions
None of these
. Given below are the parts of a computer and its functions. Match the two columns.
A B
1. Monitor i. Work like a typewriter
2. CPU ii. Resemblance with the mouse
3. Mouse iii .Display the commands
4. Keyboard iv. Work like a brain
1-iv, 2 > iii, 3 i0i, 4 — i
1- i, 2—ii, 8- iii, 4 — iv
1-iii,2 > i, 3—-i0i,4 > iv
1-iii, 2—iv, 3— i, 4 — i
None of these
A computer gives output after performing necessary task. Which one of the following

parts of a computer executes the logical or arithmetic instructions?
Monitor

CPU

Mouse

Keyboard

None of these

. The is a wonderful electronic machine that can perform various office tasks

and make our life easier.
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None of These

Read the following statements:

Statement: 1. The keys of computer keyboard are marked with letters and numbers.
Statement: 2. The computer keyboard has special keys.

Statement: 3. The keyboard keys has number keys.Which one of the following is
correct about the above statements?

Statement 1 is true

Statement 2 is true

Statement 3 is true

All are correct

None of these

. What is the use of the following back and forward arrow in the webpage?

To visit previous and next webpage,
To scroll the current page

To minimize the current page

All of these

None of thes

. Consider the following statements:

Statement: 1. Better keyboard skill gives best productivity.

Statement: 2. The upper row of the keyboard contains function keys.

Statement: 3. The keyboard contain 26 alphabets keysWhich one of the following is
correct about the above statements?

Statement 1 is true and 2 is false

Statement 1 is true

Statement 3 is true

All are correct

None of these
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A)
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11.

A)
B)
C)
D)

12.

A)
B)
C)
D)
E)
F)
G)

13.

A)
B)
C)
D)
E)

14.

A)
B)
C)
D)

. Where does the first finger of the left hand should be placed to place the little finger

of the left hand on key A of the keyboard?
F

D

P

o

None of these

What keys do you use to move the cursor around your text?
Enter

Arrow keys

Ctrl Shift

Enter

None of these

Which one of the following keys of keyboard is assigned for the little finger of left
hand?

A

Number keys

Both [b] and [c]

None of these

Which one of the following is called parentheses?

0

*

A

Q

Y4

All of these
None of these

What is the function of the centre wheel of the mouse?
Scroll

Enter

Both A and B

Shift

None of these

The keyboard consists of
Memory
Function keys
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A)
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18.

A)
B)
C)
D)
E)

None of these

Read the following statements:

Statement: 1. The start menu contains programs.

Statement: 2. The start menu contains system files.

Statement: 3. The start Menu contain power button to shut down the system.Which
one of the following is correct about the above statements?

Statement 1 is true and 2 is false

Statement 1 is false and 2 is true

Both statements are true

Both statements are false

None of these

Match the following Column A with column B:
Column A Column B

1.Data i. 129 ¢
2.Alphanumeric ii. Three types
3.Special character iii. @

1-ii, 2—i, 3-iii

1-iii, 2—ii, 3—i

1—-i, 2—ii, 3—iii

1-iii, 2—i, 3—ii

None of these

.Which one of the following is correct about the given statements?

1024 byte is equal to one kilobyte.

One gigabyte is equal to 2024 kilobyte.
One kilobyte is equal to 1024 megabyte.
8 bytes is equal to one bit.

Only 2 and 3

Only 1

All are correct

All are incorrect

None of these

Which one of the following is meaningful Information?
Red, Blue, Green

3,6,8

The car is red

A,B,C

None of these



19.

A)
B)
C)
D)
E)

20.
. The organized or processed data is called information.

A)
B)
C)
D)
E)

21.

A)
B)
C)
D)
E)

22,

A)
B)
C)
D)
E)

In which one of the following computer languages, the program is converted by using
the two numbers, 0 and 1 only?

Assembly language

High level language

Visual basic

Machine language

None of these

Given below the statements: Which of the following statements are incorrect?

Binary system uses 0's and 1's.

. Alphanumeric data use only numbers.

Only 3

1 and 2

Only 2

All of these
None of these

Jack, Jill and John are discussing about the Storage unit of the computer.

Jack: CPU stores all the data and instructions temporarily in the memory unit or
RAM. All the arithmetic operation is stored in ALU.

Jill: Central processing unit stores all data and instruction in the control unit and it
never uses any other storage device.

John: CPU is also known as brain of computer. What do you conclude from the above
conversation?

Jill is correct

Jack is correct

John is correct

Jack and John are correct

None of these

Computer has two types of memory: Primary memory and Secondary memory. Few
examples of primary and secondary memory are given below. Match them correctly:

1. Primary i. RAM
ii. CD
2. Secondary iii. ROM
iv. Hard Disk
1-i, ii, iv, 2 — iii
1-i, iii, 2— ii, iv
1—iii, 2—i, ii, iv

1-ii, iv, 2 i, ii

None of these
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A)
B)
C)
D)
E)

24.

A)
B)
C)
D)
E)

25.

A)
B)
C)
D)
E)

26.

A)
B)
C)
D)
E)

27.

A)
B)
C)
D)
E)

28.

Informationis ___ .
Processed data
Unprocessed data
Facts

Both [a] and [c]
None of these

Read the following statements: Which of the following statements are correct?
Data is a collection of facts from which conclusion may be drawn.
Alphanumeric data is used to represent only special alphabets.

. There are six types of data.

Statement 2 and 3
Only statement 1
Only statement 3
All are correct
None of these

A collection of facts such as test scores, drawing, photographs and figures is called:
Data

Process

Quantity

Product

None of these

Which one of the following parts of the computer looks like a television screen?
CPU

Monitor

Keyboard

Mouse

None of these

Which one of the following features of a computer is useful for playing videos after
saving the video files in the computer?

It can think

It can work without electricity

It can store information

It can make its own decisions

None of these

Given below are the parts of a computer and its functions. Match the two columns.
A B

1.Monitor i.Work like a typewriter

2.CPU ii.Resemblance with the mouse



3.Mouse iii.Display the commands
4.Keyboard iv.Work like...

29.Read the given statements. Which of the following statements is/ are correct?

1. In Bank, customers are increasing day by day, so computer helps in maintaining
accounts of the customers.

2. Computer is a machine that’s why it is not used in hospitals.

3. You can draw pictures, make greeting cards and do a lot of other funny things.

A) 1and 3

B) 2and 3

C) 2and 3

D) All of these

E) None of these

30. Acronym is widely used in computer as it is convenient to use. What is the acronym
of PC?

A) Per Computer

B) Person Calculator

C) Personal Calculator

D) Personal Computer

E) None of these

31.Given below are the use of computer in Railway and Airlines. Which of the following
are correct?

1. Now a day, we get e-tickets, hence computers are used for reservation.

2. We cannot use a computer as a tutor because a computer is an electronic device.

3. Computers are used for staff training in railways and airlines.

A) 1 and 2

B) 2and 3

C) 1and 3

D) All are correct

E) None of these

32. Most of the banks use computers for providing many facilities to the customers.
Which of the following is/ are provided by banks?
A) Information about Arms and Ammunition to the customers.
B) Numbers of patient admitted.
C) Provide account statement on demand.

A) iandii
B) ii and iii
C) Only iii

D) All are correct
E) None of these
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A)
B)
C)
D)
E)

34.

A)
B)
C)
D)
E)

35.

A)
B)
C)
D)
E)

36.

A)
B)
C)
D)
E)

37.

A)
B)
C)
D)
E)

38.

Match the sectors and uses of the computers in that sectors:
1. Education (i) Movies
2. Entertainment (i) Diagnose diseases

3. Hospitals (1ii) Learning
1-iii, 2—i, 3-ii
1—-i, 2—ii, 3—iii
1-ii, 21, 3—iii
1-iii, 2—ii, 3—i

None of these

A device which is not connected with a computers is known as:
off-line device

on-line device

Workstation device

All of these

None of these

In Airlines and Railways computer are used for tickets. Which one of the following is
correct about the another use of computer in airlines and Railway?

Controlling the traffic

updating the time table

keeping records of passengers

All of these

None of these

Which statement is incorrect?

Computers can be used to control traffic at Airport as well as Railways.
Computers can be used in Banks

Computers help scientists to launch a satellite and control it from work stations.
We can?t watch movie and play games on computer.

None of these

A type of computer is used for withdrawing the money/ The name of that machine is:
CAT

ATM

Bank

CAD

None of these

Read the following statements:

Peter: A computer can be used to listen the music.

John: A computer can also be used watch the movie.
Sunila: A computer can also help student in their learning.



A) Peter is correct
B) John is correct
C) Sunila is correct
D) All are correct
E) None of these

39. A folder within a folder is known as _
A) Sub file

B) Subdirectory

C) Mini folder

D) Sub folders

E) None of these

40. Computer counts each word and stores it into memory. One digit in binary number
system is called __ .

A) Bit

B) Byte

C) Sub bit

D) Nibble

E) None of these

41.What is the standard Unit of Measurement of computer memory?
A) Bit

B) Byte

C) Nibble

D) Digit

E) None of these

42.Fill in the blanks: 1. __is the temporary memory of a computer. 2. Two most important
primary memory units are__ and__. 3. Secondary memory is also known as __.

A) RAM, RAM and ROM, Auxiliary memory

B) Auxiliary memory, RAM and ROM, Backup memory

C) Cache memory. Auxiliary memory and ROM, Backup memory

D) ROM, RAM and ROM, Primary memory

E) Cache, RAM and ROM, Primary memory

43.Given below the statements about RAM and ROM Identify the correct one. 1. ROM is
said to be volatile since its contents are accessible only as long as the computer is
on. The contents of RAM are cleared once the computer is turned off. 2. RAM is a
special type of memory which can only be read and contents of which are not lost
even when the computer is switched off. 3. Random Access Memory is the central
storage unit in a computer system.

A) 1 and 2



B) 2and 3

C) Only 3

D) All of these
E) None of these

44. Word pad not contain this item of the group:
A) Clipboard

B) Font

C) Paragraph

D) Image

E) None of these

45. To change the existing file name and location of the file which menu is use:
A) File

B) Edit

C) View

D) Home

E) None of these



